K water

he SAPROIAl 2P C =X lAlE 10HA

LHZ0|IMH, K-waterOll A &= SEH A SAIZ2N =

23 JEAsLICH
ZUME & 120 2d2AS0
Az BEEJUSLICH

=+
=

SXOIH, FASNZE
M2 41,492,590,837& &

L == =
= s

Q=41,000+/%




K water

9 gBueE 3084 3382
| SROIRALN S8R
s 2RES BN

2, | odsom.m y
{2 weugon I,l :.
\ =]
\i

Kl SN SHAHE B2
SIYZTE AN B A\ P 2 X B9 3um)

GMG 22BN RS

8 A
IIUREE
L=130km |
P

& LIC

4!

f

3

N
[=]

P

n

=
[

P

L

P

Ol [
= 32,814,557,000
0

AT 16.25km

S M M=I1=0l
16. 1201

1390 2 AAISO0l
& 3o
2618 Al

E0IM,
o HSEHAE S|
l:||-i
)629

LA

%)
DERASUICH

A2 M
042

o

o
=

f

Ol A
o

Ot (3.18)= 01 &l

201 =
AEA
ol =t

=

Ct

o

=
Ct
(=]




KE
~
IF
=
<
0
m | =
= KU
i 3
w oS
,A
Rl K0
KK I3
— ©
~ | 3
IF X
= x
=< =
W, oK
AI: ) il
= E Ol
ol 5 s — <y o
K = m_ﬂo_d___oo.ruu i
=l ? momzomﬁ%_o <
| . S3SE3 L, S ms .
il <=0 9 _____ﬂ_mo_%ﬂi,__ro_r T2 5
_ —_ O & = gz ui - m___quEnD RIS w0
%__AE A ol < fa]l) = m © Kb = =~ — O 2 0 AD
o | < & mol_mwg ERssRog ok L = o
o) ur.____m I D._Ww.Alu . MoK S X o EN o ) Wy fo <
= = X ME,FAOH = _- ku & TR 3 K o -
© = z ol = glnﬂél A
= 1 Wool = o e e T m R =y
_ Sowm o om D m WG W R Wn 2wz
X 5 o No&: g &3 SV 8 o R~ 3 = 5 =0
g © o 6 W Koo +AH33¢___+W S
- 0 W R0 KB 5 ST 5 WA om o < & o o
x Xl o RU o xr N = = o0 /30 - KEU oll
W k W =z K N _J___OTAWE o ol K &
K __.A_”_;_._._._O ||_N_Ou_u_l M|I_In/_
* A_._..A__._OMMﬂ OO_TA
= wor ¥




K water
4

Al ZHAA =EXISIEEASUICH

Fu=sL

=
=

=

JlZ= W8 Al B= etE ol LICH

E

&E29-2299

Al
(=]
306711 CHTIAI CHEt= AlEF=I= 200

K—water ZrAFa S Zrarsl

TEL: O42-629-2835

S OlFIAF EEe AjESrT S2F Al S8 S} ANAIZIGE
FAX - 042

2red =M=

S Al M=

=
S

Al ZH2A =1

K—wateri= SIZHO| A28 = QUS| =448 CFsH =EISHEH 28 SS8sSkEe UsSLIcker

=
-

HE=|AE=S 6ol U=t SAXNIER] DTSl Al==.

=Al s==,

M Ot =

=
[

1 (042)629-2615 R Ml &

C
=

60
KD
K
ol
ol
3
00
Kl
Kk
~
I}
=
<
<0
=
0
K0
o)
©
=
X
*)

K-water

C
=]




—_
¥
— qd
: A\ |
3 ~
> < oo Mo *
KE ok Ko & av & oav av K K K K Ko Ko & K :
ol g g oW o W o g oW o o o o ol o ol .
Lo Lo Lo Lo Lo < <t e} Lo Lo Lo @] @] Lo (o]
]
T 0w o N
~ < (@) (@) O
s & = 3 ¢ &~ 2 84 & @ 2 8 d &
RO
=
2 B Ul =
s = w3 . Kl Iy
) = 3 @ i
- S w S WD 0!
= T oK oM o= - 7 ~ I
= _ or W o o ™ K Ko
i M= 7 TR = T w
it T w4 owom W oK = g M
B L W = R - o &
fa]l) -y - T ) o < ar H oJ )
) ki = X - om 2 W oy ¢+ @ o= z & U
= @ WMo Koy M 0w I o w5 X9
KE = =@ o+ w o+ + M X @y L W - I F :
N W= R R omg W = o Kom s Dow 5w :
gl ol ] KIr = Ka KIr | E m ar = < UH w < ol 3
= — —_ 1_
o X 5 30 5 zm W = N g ® W = FR
- B e R W oo o4 5 &
KK Ry o & M © @ 5 2o o O m
R 2 = T OO g W W o< iy
Kio aP¥ w w3 s @ ® o o=mawa O ow @@ K
7 gR o 0 o ® 003 3 @z oo o W o= 4
i o<~ < o o < < = RO o0 o0 <1 5 T o
‘ s m $% =< m % + & TN A & N & w® o





